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B ARE 7 : ik . BRI 7 : B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | WwE| 7 6D = | 920 | 7 5D = | -400 11
2 it [£3] 4D -1 -100 [£3] 3NT = 600 12
3 panyiic] 1t INT -1 -50 1t INT +1 120 5
4 E=] 1t 4H -1 -100 1t 4H -1 -100
5 |mdt| m | 4sx | 2 | 00| ® | 3NT | = | 600 15
6 |z&m| &/ | 4s | = | 620| & | eH | -1 | 100 12
7 WE=] [£3] INT +1 120 [£3] INT = 90 1
8 | Xkl &® 3C +1 | -130 7a 3C +1 | -130
o |%m| m | 6s | 2 | 50 | ® | 3NT | +1 | 430 10
10 |swe| @ | 4s | = | 620 % | 4s | = | -620

DATUM% it I E
Sleepless [ EKEERA v 5 ] 1 65

WERN/ERE -40 ABRG/EER 42 ait 1 65
PRERER/IEINL 42 NG 40 V.P. 20
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & | sD | +1 | 420 & | eD | = | 920 | 11
2 it [£3] 3NT -1 -100 [£3] 3NT = 600 12
3 ,?ﬁ 1t INT = 90 1t INT = 90
4 E=] [£3] 4H -1 -100 1t 4H -1 -100
5 it [£3] 3NT = 600 1t 3NT -1 -100 12
6 panyiie] x 3H +1 -170 x 4H +1 -650 10
7 PWE=] [£3] 2C = 90 x 2S = -110 5
8 TS x INT -2 100 [£3] 4D -2 -100 5
9 panyiie] [£3] 6S 1 -50 [£3] 6S -1 -50
10 | \WHB x 4S = -620 [ri] 4S +1 -650 1

DATUMSit T
I HERT LR Y. X+ a4 | 12

TER/ZKIE 16 PNIE/MNRE -20 ait a4 | 12
wERMINE 20 XIJ3& /BBl 18 16 V.P. 18.15 | 1.85
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Wkl ® | 3NT | +1 | -430 | 74 6D = | 920 | 10
2 |Edtl @ | 3NT | 2 | 200 | &5 3D = | 110 7
3 |&F&AE| 46 | ANT | = 90 it | AINT | = 90
4 |wal it 4H = | 620 | 4t 3H | +1 | 1270 | 10
5 | &kl dt 4S -1 -100 [£3] 2S -1 -100
6 |Fmm| 7 2S | +2 | 270 | 4S = | -620 | 10
7 |wa| & 3H = | 140 | 7 1D = 70 5
8 |WEL| &= | 3NT | -4 | 200 | 7 | 3Sx | -1 | 100 3
9 it [£3] 6S -100 1t 5D +1 420 11
10 | WE| &® 4S | +1 | -650 | 4S | +1 | -650
DATUM&iit g
E52PA sysujnuscut Y, %+ 33 | 23
FEF/AER 5 FER/BRE -2 ait 33 | 23
SRR/ EERE 2 B LR/ fEMA -5 V.P. 13.43 | 6.57
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT +2 -460 [ri] 6D +1 -940 10
2 |l = 3D = | 120 | & 5D | -1 | -100| 5
3 panyiic] 1t INT = 90 1t INT +1 120 1
4 E=] 1t 4H -1 -100 1t 4H -1 -100
5 it 1t 3S -1 -100 1t 3NT = 600 12
6 panyiic] x 3NT = -600 [ri] 4S = -620 1
7 E=] [£3] 3NT -1 -100 [£3] 3C -1 -100
8 | Xkl =& 2D +1 110 x 3C +1 | -130 6
9 panyiie] [£3] 6S -2 -100 [£3] 58S = 450 11
10 | \WHB x 4S +1 -650 [ri] 58S +1 -680 1

DATUM%tit iAE
EFAEA KIEBLIPA y. S+ ] 23 | 24

S BE -14 REXBE IR/ 5eRR -10 Aait 23 | 24

W/ Z2EE 10 ErEIR//S8E%E 14 V.P. 9.61 | 10.39
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxel & | e | = | 920 %= | 4H | -1 | s0 14
2 it 1t 3NT -1 -100 [£3] 3NTX = 750 13
3 ,?ﬁ 1t INT +1 120 1t INT = 90 1
4 WE=] 1t 4H -1 -100 1t 4H -1 -100
5 it 1t 3NT -2 -200 1t 3NT = 600 13
6 panyiic] x 3NT = -600 [ri] 4S = -620 1
7 E=] [£3] 3C = 110 [£3] INT -1 -100 5
8 TS [ri] 1D -2 100 [ri] 3S 1 50 2
9 |FALl & 4S +1 450 [£3] 4S +1 450
10 | \WHB [ri] 4S -1 100 x 6S = -1430 17
DATUMSit T
ERiI2BA I HEE Y. 3+ 26 | 40
BER/SME 1 RRA/FPIRE 21 ait 26 | 40
EWE/fFRET -21 B S /BRERITR -1 V.P. 5.46 | 14.54
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1 |wxl & | aNT | -2 | 50 | 4t | 4sx | 5 |-1100] 15

2 |mit] & [ aNT | = | 600 | B | aNT | = | 600

3 [mE| 46 | aNnT | -2 | s0 | 46 | anT | +21 | 120 5

4 |wal 4t | 4H | -2 | 100 46t | 4H | -2 | -100

5 | mik LL PAS it 4s -1 | -100 3

6 |FE| & | a0 | = | 620 & | 45 | = | -620

7 |wal & | aNT | -2 | 200 & | anT | = | 120 6

8 |wx| m | 3p | 2| 50| 4 | aNT | -2 | 50

o |FwAE| & |eNTx| 3 | 00| 4t | D | -2 | 50 10

10 [ Bl H* 4S +2 | -680 7a 4S +1 | -650 1

DATUM&iit iFE
HETFPA FRLlIXE 5 -] 18 | 22
ZRIE/BMEE -10 FEX/BBFF -15 &it 18 22
SRR/ 24500 15 AL/ R R, 10 V.P. 85 | 115
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